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Person cannot pick adjacent cell numbers. So for example if the 
person picks 1 then he cannot pick 2 and similarly if person 
picks 3 then he cannot pick 2 and 4.
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Option 1
I Should pick 1 here and then 
go ahead without picking 2. 

Option 2
I Should not pick 1 here and 
then go ahead and try for 2 or 
others.



• Since at any cell we have two options and we will try to pick one with 
maximum answer.

Solve(i) = max(Solve(i+1)  , Solve(i+2) + a[i]  )

FARIDA - SPOJ

Moving Like this guarantees that we will not pick 
adjacent elements.
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Left child is the case 
when we do not pick 
the number

Right child is the case when we 
pick the number at that position 
of array. Then we move two 
positions ahead as we cannot pick  
next node in that case.
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Left child is the case 
when we do not pick 
the number

Right child is the case when we 
pick the number at that position 
of array. Then we move two 
positions ahead as we cannot pick  
next node in that case.

= 4 = 5

= max( 4 , 5 + 3 ) = 8 = 4 = 4 = 5

= max( 8 , 4 + 2) = 8
= max( 4 , 5 + 3) = 8

= max( 8 , 8 + 1) = 9



Solution - Code


